A vl
\‘Ewﬂ'“ &
ANDHRA EDUCATION SOCIETY SCHOOLS

MEW DELHI
SUMMATIVE ASSESSMENT-I (2016-17)
CLASS - XII
SUBJECT - MATHEMATICS
Time : 3:00 Hrs. Max Marks : 100
All questions are compulsory

a) Section A questions carry 1 mark each.
b) Section B questions carry 2 mark sach.
¢} Section C questions carry 4 mark each.
d)Section D questions carry & marks each.

SECTION - A

43 =y

1. Find the values of tan(sin 1;+ cot ";J.
_y
. Prove that 1tan‘1§+ tan‘1%=mn 1=,

2
3. |f,!.,=(n_“ﬂ "ﬂm)_m A + AT = [, if the value of a.
sing  cosa

gtz
4. Evaluate ; -ré=+i dx.

SECTION -B

5. Find % ifx=a(f — sing), y = a(1+ cosd)

G.letf:{1,3,4)— (1,2, 5} and g:{1.2,5) = {1,3)be given by f = {(1,2),(3,5),(4. L)}and g =
{(1,3),(2.3).(5.1)). Write down gof.

7. Show that that the relation R in the set {1,2,3} given by R = {{1,2), (2,1)} is symmetric but neither reflexive
nor transitive.

8. Consider the binary operation
« on the set [1,2.3,4,5)defined by a + b = min [a,b}. Write the operation mblu of the operation

_1._:1_ -l T — _| |.
9.Prove that tan T + tan % tan 3
10.4 sin(sin~* % +cos~ 1 x) = 1,then find the value of x.

i
11.Construct a 2 x 2 matrix , A = [a; ], whose elements are given by ay=; .

12. Find equation of line Joining (1,2) and (3,6) using determinants.




SECTION-C
-3.5how that the relation R defined by (a,b) R (c.d) iff a + d = b+ c on the set N X N is an equivalence relation.

OR

Let * be a binary eperation on ( defined by a * h=ﬂ Show that * is commutative as well as

associative. Find its identity, if exist.

g [Wierine+ L
14 Prove that : cot m— .J‘.’ e {u '}

15.Find inverse of given matrix by Elementary transformations: . 5]

16.5how that the function fix) = |x — 3|, x€ R, (s continuos but not dif ferentiable at x = 3.

17 Differentiate the following with respect to x : sin™[ ﬂ::: 1
OR
Differentiate the following function w r.t. x; (logx)* + x'°9*
18.Find the intervals in which the function f given by f(x) = sink + cosx, 0< x < 2w Is strictly increasing or strictly
decreasing.

OR

Using differentials, find the approximate value of f{2.01), where f{x) =4x" + 5¢" + 2.

19.5and is pouring from a pipe at the rate of 12 em’/s.The falling sand forms a cone on the ground in such a way
that the height of the cone is always one — six of the radius of the base. Huwfin is the height of the sand cone
increasing when the height is 4 cm?

#0.Find ; J- lﬂﬂ+lfﬂ.!!‘

21.Evaluate; [ ——————dx. OR “:Hm"} e” dx.

{2+sing)(Z+iny) 1+Corx
2 plinx r X rtamx
22 Evaluate ; Jn*— dx. OR j'n
zam'ﬂ!r SECx+lans

13 Solve the LLP. minimum Z = 2x + 3y subject to the constraints:

Ix+ Iy = 6, r—-y20 2x+ys8 xz=20, yz0

SECTION - D

24.A company produces soft drinks that has a contract which requires that a minimum of 80 units of chemical A AND
60 UMITS of the chemical B go into each bottle of drink. The chemicals are available in prepared mix packets from
two different suppliers. Supplier S had a packet of mix of 4 units of A and 2 units of B that costs Rs. 10.The supplier T
has a packet of mix of 1 unit of A and 1 unit of B that costs Rs. 4. How many packets from mixes of 5 and T should the
company purchase to honour the contract requirement and yet minimise cost? Make a L.L.P. and solve graphically,




25.Evaluate; [(x? + x)dx as the limit of sum.

OR

Prove that:_[;:[-n.fm:ir + Veotx)dx = u"Z_E

26. A window is in the form of a rectangle surmounted by a semicircle. The total perimeter of the window is 10.find
the dimensions of rectangular part of the window to admit maximum light through it.

37. Show that the surface area of closed cuboid with the square base and given volume is minimum when it is cube,
OR

The sum of the perimeters of a square and circle is k. where k is some constant. Show that the sum of their
areas iz least when the side of the square is equal to diameter of circle.

28, tfx= ’f‘n-_;-’f’;f: y= ;,‘E‘;%. then find 2.
2 ¥ 3

29, if An[ 1 3 =1|, find A" . Using Elementary transformation method and solve the system of equations: 2x
-2 1 1

+y+32=9, x+3y -2=2, -IK +y +2= /1,




